BHCSI Introduction to Python Program: Club Merging
For this program, you'll receive your input from a file, instead of standard input (keyboard). Please name your python file clubs.py and please read your input from the file clubs.txt. It will be helpful for you to use the concept of sets that were taught in class for this program. Also carefully go over your notes on reading information from files. Also note that you'll simply write your output to the screen. Note: If you can't finish the assignment, try to get as many of the five parts done. Each can be done separate.

The Problem
Given a list of two clubs at school, your goal will be to determine the following:

1) The list of people who belong to either club

2) The list of people who belong to both clubs

3) The list of people who belong to the first club but not the second

4) The list of people who belong to the second club but not the first.

*5) A list of all possible committees of two people where one person is from the first club and another person is from the second club.

*: This one is a bit harder than the rest, so get the first four done first before attempting this one.
Input File Format (clubs.txt)

The first line of the file will contain a single positive integer, n, representing the number of input cases.

The first line of input of each case will contain the name of b,the first club. The second line of input of each case will contain a single integer, a, representing the number of people in the first club. The next a lines will contain the names of each of the club members. Each of these names is guaranteed to be unique and formed using letters only. (For the purposes of this problem, "David" and "david" will be considered different people, since the two strings are different.) The following line of input for the case will contain the name of the second club. The line thereafter will contain a single integer, b, representing the number of people in the second club. The next b lines will contain the names of each of the club members, and each of these names is guaranteed to be unique, but some of these names may be the same as names in the previous list for the first club.

Output Format

For each test case, output a single line with the following format:

Test Case #k:

where k is the number of the test case, starting with 1.

The second line of output for each case will have the following format:

People in either club: Name-1 Name-2 ... Name-m

List the appropriate names in order, as determined by the sort function. Each name should be separated by a space.
The third line of output for each case will have the following format:

People in both clubs: Name-1 Name-2 ... Name-p

List the appropriate names in order, as determined by the sort function. Each name should be separated by a space.

The fourth line of output for each case will have the following format:

People in X Club but not Y Club: Name-1 Name-2 ... Name-r

where X is the name of the first club and Y is the name of the second club. List the appropriate names in order, as determined by the sort function. Each name should be separated by a space.

The fifth line of output for each case will have the following format:

People in Y Club but not X Club: Name-1 Name-2 ... Name-r

where X is the name of the first club and Y is the name of the second club. List the appropriate names in order, as determined by the sort function. Each name should be separated by a space.

The last line of output for each case will have the following format:

All possible committees: (A-1,B-1) (A-1,B-2) ... (A-m,B-p)

Each committee should be listed as one person from club 1 followed by one person from club 2. List the committees in alphabetical order by the person from the first club. To break the tie, sort in alphabetical order by the person from the second club. Skip over committees that would have the same person listed twice. But, if Adam and Sarah are both in both clubs, then you'll list (Adam, Sarah) AND (Sarah, Adam), since the former represents Adam being chosen from club1 and Sarah being chosen from club2 while the latter represents Sarah being chosen from club1 and Adam being chosen from club2, which we will treat differently. Essentially, we're just outlawing the same person from being chosen by both clubs, but distinguishing between a person being chosen by the first club versus the second.
Separate the output for each case with a blank line.

Sample Input (clubs.txt)
2
Chess

4

Adam

Carol

Bob

David

Monopoly

3

David

Bob

Emily

Key

6

Stephanie

Rodney

Steven

Jennifer

Sarah

Jackson

2

Beta

Ben

Emily

Sample Output

Test Case #1:

People in either club: Adam Bob Carol David Emily

People in both clubs: Bob David

People in Chess Club but not Monopoly Club: Adam Carol

People in Monopoly Club but not Chess Club: Emily

All possible committees: (Adam,Bob) (Adam,David) (Adam,Emily) (Bob,David) (Bob,Emily) (Carol,Bob) (Carol,David) (Carol,Emily) (David,Bob) (David,Emily)

Test Case #2:

People in either club: Ben Emily Jackson Jennifer Rodney Sarah Stephanie Steven

People in both clubs: 

People in Key Club but not Beta Club: Jackson Jennifer Rodney Sarah Stephanie Steven

People in Beta Club but not Key Club: Ben Emily
All possible committees: (Jackson,Ben) (Jackson,Emily) (Jennifer,Ben) (Jennifer,Emily) (Rodney,Ben) (Rodney,Emily) (Sarah,Ben) (Sarah,Emily) (Stephanie,Ben) (Stephanie,Emily) (Steven,Ben) (Steven,Emily)
